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General Instructions:

1. All questions are compulsory.

2. Marks of each question is indicated against them.

1. S 39er Hgell & T 3UR @lleal & AT gahel W 375 | 98l 398K $T Ig

EIC |

T AT (T )
g 20

afsar 100

4fder &1 fssar | 50

2E]} 160

IEGICH 40

T 50

Zareen went to a

shop to buy a gift for her friend. These gift items were

there?

Item Price (in rupees)
Ball 20

Doll 100

Pencil Box 50

Clock 160

Book 40

Colours 50




gl 3UGRI & Hedl &l 9ieT 3R fqU 71T geat & #Er 3o 9 el ofems |
Read their prices and encircle correct answer of given questions.
(i) TIf3am v Hrad Far g2
a. 350
b. T80
c. 3100
d. 150
What is the price of doll?
a. 350
b. T80
c. %100
d. %150
(i) frT 3R & FaAd TEd 3AF g2
a. 1
b. fhdre
c. If3ar

d. gsr
Which gift item has highest price?

a. Colours
b. Book
c. Doll
d. Clock

(iii) forqr =fioT T AT G & 8o & & 572
a. 1
b. fehdre
c. af3am

o]

d. st



Which item has same price as pencil box?

a. Colours
b. Book
c. Doll
d. Clock

(iv) ST 120 9 & 7f$AT & AY-TY 3R FlA A1 3UER TG Fohell 87
a. @I
b. ferdre
c. 9g
d. g3t

In 120 rupees what else Zareen can buy along with the doll?
a. Colours
b. Book
c. Ball
d. Clock

(v) afe S & 9@ 200 39 &, A 98 g & Ty 3R FT T 3R Wi

w2
a. @I
b. fercrer
c. 9ig
d. st

If Zareen has 200 rupees, what else she can buy along with the

clock?

a. Colours
b. Book
c. Doll
d. Clock



(vi) ST o 9739, fohdie 3R T TS dF 38 goeeR & fohdel e
el ghar?
a. %100
b. %120
c. %150
d. %190
Zareen has bought a doll, a book and colours. How many
rupees she has to give to the shopkeeper?
a. %100
b. 3120
c. %150
. %190

o

() I e T&areT et B

The length of this comb is cm.

(i) I8 TOmIT _ HHe osl g

The length of this envelope is cm.
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8

(iii) 3T el T VT FHr arS T g

centimetres.

10

Length of this hair pin is

A’A_ 10 :4

-

(iv) I8 +1$ g dear 1 Rw@r @ &2

Which number this card is showing?

.0.......‘..

00..........

0 (AL L L L L L L L)

’ LA L LL L L L L)
(LLL L LI LI

g?

solleh

How many blocks are these?

O BESG

(vi) T fordel 3 87

How many rupees are these?



Sl TS fhasy AT Sreelt, foheefer &, dex &, ar déeder A T8
3 X INAT I3 -

Length of these will be measured in kilometres or metres or

centimetres? Encircle the right answer- . -

¥
=
el T dETS freitHTeY / #Hiex | dé&#HReT
Length of a banana kilometers / Metres / centimetres

Moot T TS

fholtdeT / Hiex/ &

Height of a sugarcane kilometers / Metres / centimetres

fpenaeT / #ex / ddHeT

kilometers / Metres /

centimetres
feoel 3R 3T & o @ gl
Distance between Delhi and

Agra

4, 6 3% / 6 Marks
# w7 @ e §2
Which number am 1?
() 3PR A 91¢ T Tl 93T df Teh A G &l Y|
If you hit a 4 after me, you score a century.

(M AFHATH Mg IR ATOFagaoag

| have 9 in my name and am very close to 70.




(i) 3 20 3R 30 & o 3 e § 3R HA TR 5 3T B

| come between 20 and 30 and there is a 5 in my name.

- 5. 4 37%/ 4 Marks

(1) BRSI SETHaT fohddel HEHAT H TSH T X oIl ? -

In approximately how many steps will Dorji cross the road?

(i)) 95 T TEAT Teh T b AT Th & FW Teh el fohcdel &3 I@eA 12 -

Approximately how many pots can be placed to reach the tree branch? _

5. 39 g1 # fohasr 100, frasr 10 31k forasy 1 €7

How many 100, 10 and 1 are there in this number?

100
10 1

() 579= + +




(i) 683 = + +

OR /3T
B. 9% &I # wear §7
Which number is this
(i) 400+50+6=
(i) 900+30+1=__
- 7. (1x 4 =4 %)

A. & TEIT3T Y 3T H @y -
Write numbers for the given number names -

() 315 H 36 -
Eight hundred sixty- nine.

(i) IR & WggR -

Four hundred seventy-five -

OR/ &t
B. 3T &I &7 eTeal & @l
Write these numbers in words.

i. 345 -

ii. 678 -




9%T- 8 (1x6=6)

A | () FIH G FEH B U5 G Il A3

Encircle the shortest tree.

T r

(@) (b) (c)

(i) SoIH W TEH oIl ASel 9T el o3|

Encircle the longest fish.

o o IR m——

iii. ST O 99 BIET B3l X el o3|

Encircle the shortest walking stick.

H T
(a) (b)

()




IqT1 / OR

B Sam31r

Draw:

() 38 @1 | ST Y@rn

A line shorter than this line

(i) 3T 3@T & o6l 3@ -

A line longer than this line

gesT- 9 (1x6=6 3%)
A. 3T YT &I AT Sar3f-

Continue the pattern -

(i) 209, 207, 205, ,
(i) 310, 320, 330,
(i) 401, 402, 403, ,

OR/AT



B.

(i) T[T IR H cfiel H&H G 6T o] IR I HEAT 93 { LFHT FAT § ol 4 IR

%o W dg fohd TEAT I EEI?

Raju is jumping three steps at a time. If he starts from number 93, on which number

will he reach after 4 jumps?

-

?\,{’_\K_\, i

93 |94 |95 |96 (97 |98 |99 | 100 | 101 | 102 | 103 | 104 | 105 | 106 | 107

(i ) Tl fAcTelr Teh IR & 2 A &e W 8| VR g9 &A1 32 § Y& Al §
a6 SN Feel & g I fhe TN T Igaan?

Rangeeli titli is jumping 2 steps at a time. If she starts from number 32, on which

number she will reach after 6 jumps?
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